







Ex 2B Q5 A C

6g 30

c Tr 7T
2N B

V
ng

Resolve T cos60 2 Tcos 30
2 T cos30 cos 60

T 2
cos30 cos60

T 2 253 5.46 N

D
Resolve I Tsin 60 t Tsin 30 mg

mg T sin Go si 30

m 5.4641 SenGotsin3o
9 8

m 0.76 Kg

c No friction between bead and string

Statics 2



Ex 7C Q1

R 8N
7

12kg7 200

Fear 2g
F ur

on pointofslipping

R t 8sin20 2g
R 2g 8sinzo

F 8 cos 200
MR 8 cos 20

µ 8 cos20 8 cos 20
R 2g 8sin 20

µ 0.446

R TN
h 7 Mass 0 5kgD o.sgs.im noo erra µ LL 5

0.5gCostco
40

On point of slipping up hill



Parallel to slope 0 5gsin40 tyr Taos 20

1 to slope R Tsin 20 O 5g cos 40

Tcos20 1 R 0.5g sin 405

Tsin Zo t R O 5g cos 40

By calc T 3.869 N R 2 430 N

Upper bound for T 3.87 N

R TN
n 7

On point of slippingo.sgs.im no fur down slope
0.5gCostco

40

11 to slope 1 cos 20 MR 0.5g si 40

to slope Tsin Zo t R O 5g cos 40

By calc T 2.753 N R 2.812N

Lower Bound for T 2.75N

2.75 NE T E 3.87N

Classwork and Homework



Exercise TB Q3 Qb 0,11

Exercise 7C Q 8 Q9


